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1. XORXZMHHICE L. (S, A1 9308, B3, CH59)

(1) 100000 (2) 30029
(3) nCI (4) nCn72
(5)  oC3+Cy (6)  4Co+4C1 +4Co +4C3 + 4Cy
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2. XOAZEMHICE L. (SHk17408, A3, B#k54r, C#74)

(1) 1000C1000 (2) 30C28
(3) nC2 (4) ncn—3
(5)  25C4 + 25C5 S
(6) > 10Ck
k=0
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1. XORXZMHHICE L. (S, A1 9308, B3, CH59)

@ nCr = nCn—r
@ nCO =1
* BEEOAX { @ Ci=n
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k=0
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(1) 1000Co (2)  30Ca0
1000Co = 1 30C20 = 30C30-20 = 30C1 = 30
(3) .G 4 .Cn_a
"Cl =n nCn—Q = nCn—(n—2) = nCQ = %
(5) oCs + oCy (6) 4Co 4+ 4C1 + 4Co + 4C3 + 4Cy
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H5X=14+4+6+4+1=16
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2. XOAZMWHICE L. (SH157408, A3, Bfks54, C#H745)

(2) 30C28

(1) 1000C1000

1000C1000 = 1 30C28 = 30C30—28 = 30C2 = 435

YR A AN D =M CHliIE 1

(3) nCQ (4) nCn—B
nCo = M nCn_3 = nCn—(n—S)
2
= nC3
~ nn—1)(n—2)
- 6
10
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